BIANCA - DN 32- DN 900 HE{Zz2t0| =

Description

SAX0|L BAY Q= fA 9 D&z ofE2[Ao|Me 2/ 8l MO E
2l EAZE A (fluoropolymenZ ELO|'HEl F & H (centric) HE{SEI0| HE,
19952 H AQANM MA 3 M= =AJASLICH

Product features

JHIC| 1= B1 Wafer DN 32-600
B3 Lug DN 32-400
B4 U-section DN 400-900
« Face to face dimension  1SO 5752/20, EN 558-1/20 of| [}&
« Top flange ENISO 5211 0f @HE
< E|C) AFR 2R 16 bar (DN 32-300)
10 bar (DN 350-600)
6 bar (DN 700-900)

< ZUX| HZE PN10, PN16, ANSI cl. 150
AS 2129 table D + E, JIS 10K and others
2 HY Eed =20 a2t -20°CEE 200°CTHK| AHE

£ A0H, ¥ A O W2 22 AIE JHsotH,
st 2=l chet 54 Ald ZEAM 7t S ELch

« Factory tests 2to|l & @HEEY C|A39] 7|13 HAH=DIN
EN 60243-10] wat sHELICE A" SHM=
Al H3ELICH 7|2 BHAEE EN 12266-1
o FHE ASSOl wat ZIME LI 2} WHo|
E37t7|1EELUCt

C € BIANCA HE{E2t0| #EE= R
PED(Pressure Equipment Directive)
2014/68/EUS| 2E 101M Fogt R4 2E 1
2 20] s{ESt= RAOf CHEt HH 27 A S
SEPLCh

S I L BIANCA HE{Z2t0| ¥E = |EC 61508 /
61511, QP2 AMSF SIL 30] w2t ok 2

A AROA ZHESH7|0ff HERLICH

E4 7T BIANCA #EE= Zat JHsMo| Qe
A CH710flM AHEE 4= UBLIC
Fugitive emission H|At HiZE SMOZ ENISO 15848-1 EES S & QUGLICE
FDA and (EU) BIANCAO| AH2El Teflon®2 FDA 21
No. 10/2011 CFR177.1550 % (EU) No. 10/2011S &4-%fL|Ct

Wafer Lug

U-section

ﬂ&@
InterApp A dedicated member of the BV Group

1/8



BIANCA - DN 32- DN 900 HE{Zz2t0| =

Construction

1 | HEHY FH(EN-JS 1025) 24Qf 21| A HiC|

2 | Blow-out &X| 2X& (One-piece) C|A3/AFLE

3 | A 3mme @HEY

4 | FZHOoZ oMEYE [|A3

Hir
o
2
$
o
njo
o
oo

7

]
>
|H
|m
nx
o

8 | XMl & AIZE H|ojd

9 | QE AIZE MY

10 | MY 2to|, cold-flow &X|

11 | HC|oll DY E ARtAED 20|l

12 | ENISO 15848-1 T§Z (MEH ALt

PFAC|AZ Zof D

2iA 10,000 /
ISO 22 70 =&, HIAE, ZF

Torques ot 4= 2{3t PTFE 2to|Lfe] £3 3t

DN | 32/40 ‘ 50 ‘ 65 ‘ 80 ‘ 100 ‘ 125 ‘ 150 ‘ 200 ‘ 250 ‘ 300 | 350 | 400 | 450 | 500 | 600 | 700 | 750 | 800 | 900
6 bar 675 | 900 | 1100 | 1300 | 1750 | 2100 | 2800 | 3100 | 4000
10 bar 189 | 330 | 476 | 810 | 1080 | 1320 | 1560 | 2100
16 bar| 21 ‘ 25 ‘ 39 ‘ 43 ‘ 73 ‘ 87 ‘ 146 | 227 | 396 | 571

www.interapp.net 2/8



BIANCA - DN 32- DN 900 HE{Zz2t0| =

Kv 2t m3/h
WEo| JHE 2t
DN 20° 30° 40° 50° 60° 70° 80° 90°
32/40 4 8 17 30 45 65 85 95
50 5 1" 24 42 64 92 118 134
65 8 19 41 70 108 155 200 227
80 15 33 72 125 190 270 335 392
100 20 48 95 162 255 385 485 585
125 38 82 165 255 455 645 815 1015
150 60 130 235 395 645 955 1220 1495
200 95 230 465 795 1180 1815 2410 3050
250 175 350 710 1160 1610 2420 3650 4510
300 265 522 995 1720 2665 3965 5960 7210
350 350 660 1180 1800 2880 4550 7180 8760
400 510 985 1480 2450 4230 6550 9250 11350
450 665 1255 2230 3850 6250 9200 12250 14900
500 890 1620 2980 5350 8150 11800 15560 18000
600 970 2150 4180 7420 11350 16450 21200 24500
700 1060 2560 4868 8412 14359 23901 37638 48633
750 1217 2939 5588 9675 16484 27437 43207 55829
800 1402 3328 6351 11169 19073 32074 51820 63905
900 1915 4259 7897 13849 23887 41112 66771 81016
c, =k, .1,16
o
s
100
90 /
80
70
3
e 60
E
(o]
X 50
2
2 40
3
3 /
[T
30 -
20 //
0 4_/

0° 10° 20° 30° 40° 50° 60° 70° 80° 90°

wiio| gy 24z

www.interapp.net 3/8



BIANCA - DN 32- DN 900 H{E{Z2t0| HE&

92 [ 2 Chojoj 1

(bar] Vacuum
16 ~2N.32:150, DN 200-300 with disc AW0/4WT - [mbgggbs]
—
14 £ 700
g 12
= S \ ($Y
12 2 “\Q AN '&7‘\ 600
m N <o
(2
DN 200-300, DN 350-600 with disc 3LT/ALT/ATO
10 —— \ 500
8 \ \ 400
DN350-90 \
6 - - \ 300
S~~~ eoe®” \
ULTRAFLON/MVQ DN350-600 by
4 eee e eeee S00eepoescerececvsscssoccccecccsocee e [AA NN EXN NN ] eeee seseepee \ 200

100

.o
l‘..'.

.

xd oo
AN R L

ULTRAFLON/MVQ

bessslese

20 10 O 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200 [°C]

oleloll O =2 2= 7|& B &ofdl FA17| HHEHLIC

ULTRAFLON?® 2lo|L{2| ZH

Permeation Deformation
Comparison of ULTRAFLON® - PTFE - PFA (film thickness 1mm) Under repeated load ,Cold flow behavior*
Loading 115 N/mm?, 4 cycles
Duration : 100 hours each cycle
Cl, Temperature : 23°C (73°F)

Perm. deformation after 24 hours recovery

460 Cycles
HCI

0 500 1.000 1.500 2.000 2.500 3.000 0 5 10 15

Permeation [cm®/m? x d x bar] Cold flow [%]

B ULTRAFLON®
B PTFE
BN PFA

www.interapp.net 4/8



BIANCA - DN 32- DN 900 HE{Zz2t0| =

Type code
B1 0100 3 3 2BE . 4GT T E - xx
Bl Wafer DN 32-600
@ Bodytype B3 LUG body DN 32-400
B4 U-section body DN 400-900
@ Nominal diameter 0032-0900 | mm
1 6 bar DN 350-900
q DN 200-300 with all,
© Working pressure 2 10 bar DN 350-600 with 3LT/4LT/4T0 discs
3 16 bar DN 32-150, DN 200-300 with disc 4W0/4WT
e Flange connection * PN10/16/ANSI B16.5 cl150 see table below; others on request
2BE Ductile iron EN-JS 1025 / EN-GJS-400-18LT / = ASTM A395 60-40-18, Epoxy coated
© Body 80 pm
4B0 Stainless steel 1.4409 / = ASTM CF3M DN 32-400
Stainless steel 1.4408 / =~ ASTM CF8M DN 32-300
4G0
Stainless steel 1.4404 / = AISI 316L DN 350-500, DN 600 - 900 o.r.
c Stainless steel 1.4408 / == ASTM CF8M polished Ra <0,8 DN 32-300
4GP
Stainless steel 1.4404 / = AISI 316L polished Ra<0,8 DN 350-500, DN 600 o.r.
4GJ Stainless steel 1.4435/ = AISI 316L, Ferrite <0.1%, e-polished Ra < 0,4 DN 32-300
Stainless steel 1.4408 PFA overmoulded DN 32-300
4GT
Stainless steel 1.4301 PFA overmoulded, shaft stainless steel 1.4404 DN 350-900, on request
: ) 4Wo0 Duplex 1.4469 / =~ ASTM A 890 grade 5A DN 32-300, 16 bar
(@ Disc-shaft, one piece
4WT Duplex 1.4469 / =~ ASTM A 890 grade 5A PFA overmoulded DN 32-300, 16 bar, DN 350, 10 bar
4T0 Duplex 1.4462 DN 350-600, 10 bar
4LT Stainless steel 1.4542 PFA overmoulded DN 350-600, 10 bar, DN 700 - 900, 6 bar
3LT Disc carbon steel 1.0577 PFA overmoulded, shaft stainless steel 1.4542 DN 350-600, 10 bar, DN 700 - 900, 6 bar
3TT Disc carbon steel PFA overmoulded, shaft stainless steel 1.4462 DN 350-400, 10 bar
A PFA antistatic (black, no FDA and (EU) No. 10/2011 compliance)
THO Hastelloy 2.4819 / = Hastelloy C276 DN 50-300 (others on request)
770 Titanium 3.7035, Grade 2 (on request)
T PTFE (* for elastomer backliner)
™V ULTRAFLON® (UF) for vacuum, chlorine or high temperature applications
0 Liner T*A PTFE antistatic (black, with FDA and (EU) No. 10/2011 compliance)
T*VA ULTRAFLON’ antistatic (black, with FDA and (EU) No. 10/2011 compliance)
u* Ultralene (UHMWPE) for abrasive applications, max. 80 °C (EN 12266-1 leakage rate B)| DN 80, 100, 150, 200
S MVQ, max. 200 °C
@ *Elastomer backliner E AP, e, JEDTE
q DN 200-300 max. 10 bar
Y AP IEES HEDE DN 350-900 max, 6 bar
LF CE(WRIE) M el 22 gl .
HP WeE= RSN MA, =8, HAE L ZERELICH (0] A BF 209E, 2214 10,000, 1SO S2HA 7(1SO 14644-1))
© Special execution
112/246 | ATEX/IECEx: 1Y EA & x: Z4 2[H0| QU= SHHM ALSHY| 2[8t InterApp HE{Z2t0] HE
180 |4 HHZE EZE EN SO 15848-1
H X 2 2 =35}
**Flange connection (Code) 84 A CHE SMEZ JHsELCH
BIANCA on- |s|s|s|s|=s|e|s|e|8|z|s|8|s|8|8|8|s|2|58|s
PN10 8 2
B1 PN16 3
ANSI cl.150 & A
PN10 3 \ 2
B3 PN16 3
ANSI cl.150 A
PN10 2 2
B4 PN16 3 3
; ANSI cl.150 A
2iol Bof| YHE FHAE A2 71E B Aol E2lstA|7| HiELICt
www.interapp.net 5/8



BIANCA - DN 32- DN 900 HE{Zz20| =

Dimensions

BIANCA B1, Wafer
DN 32-65 DN 80-150 DN 200-400 DN 450-600

1) DN 450~ DN 600, = 4|
° SRt otetol 2709f LEAZE IS

BIANCA B3, LUG
DN 200-400

DN 32-65

D3

DN d A B C H

X D1 D3
32/40 | 40 125 69 33 23 4 105.8 | 136

9

7

F 1SO a y b G E M |B1kg]| B3kg]
9 FO5 | 65 | 4x7 | 50 | 11 12 [ Mex12 | 17 | 24
184 | 162 | 9 FO5 | 65 | 4x7 | 50 | 11 12 [ Mex12| 23 | 32
9
9

50 50 134 68 43 26

65 65 145 78 46 39 1325 | 170 F05 65 4x7 50 1 12 M6x12 | 2.9 4.1
80 80 160 92 46 66 17 144 216 F05 65 4x7 50 1 12 M6x12 | 3.4 6.2
100 | 100 | 175 107 52 86 24 173 254 12 F05/07 90 | 4x7/9 | 50/70 | 14 16 M6x12 | 5.1 9.3
125 | 125 | 194 120 56 112 35 219 293 12 F05/07 | 90 | 4x7/9 | 50/70 | 14 16 M6x12 | 6.9 10.7
150 | 150 | 210 134 56 140 47 247 315 12 FO7 90 4x9 70 17 19 M6 x 12 10 12.9
200 | 200 | 239 162 60 191 70 295 389 15 |FO7/F10| 125 |4x9/11|70/102| 17 19 M6x12 | 141 | 223
250 | 250 | 275 199 68 241 91 367 483 15 F10 125 | 4x11 102 22 24 M6 x12 | 22,9 | 324
300 | 300 | 310 230 78 290 | 1M1 419 543 15 F10 125 | 4x11 102 22 24 M6x12 | 329 | 46.9
350 | 339 | 349 257 78 330 | 131 | 428 564 16 F12 155 |4x13.5| 125 27 40 |M10x20| 50 87
400 | 400 | 379 287 102 387 | 149 | 473 620 16 F12 155 |4x13.5| 125 27 40 |M10x20| 68 98

450 | 450 | 426 320 114 436 | 168 | 528 - 21 F14 175 | 4x18 | 140 | @45 65 |M12x20| 100 -
500 | 500 | 451 360 127 484 | 187 | 588 - 21 F14 175 | 4x18 | 140 | @45 65 |M12x20| 122 -
600 | 600 | 555 415 154 580 | 223 | 686 = 26 F16 210 | 4x22 | 165 | @60 90 |M12x20| 180 -

K|4= X 2t HE b A%

=
=
WoE SukEs HAE 4

12{3HX| @2 FULICH
g A

[=5 oI 72|E Folsiof gfLct.

www.interapp.net 6/8



BIANCA - DN 32- DN 900 HE{Zz2t0| =

Dimensions

BIANCA B4, U-section
DN 400-600 DN 700-900

2)

(=1
=

1) DN 450 ~ DN 900, #E & 221} SHEH]| 2709 LEARZE QL
% 2) DN 600 ~ DN 900, & & ALO|= £20f 27H2] LEAZ} U

B4
4
A

D4

DN d A B4 c H X D4 F ISO a y b G E M BA[kg]
400 | 400 | 379 | 200 | 102 | 387 | 149 | 616 16 F12 | 155 |4x135| 125 | 27 40 | Miox20 | 95
450 | 450 | 426 | 320 | 114 | 436 | 168 | 630 21 F14 | 175 | 4x18 | 140 | @45 | 65 | M12x20 | 140
500 | 500 | 451 | 360 | 127 | 484 | 187 | 700 21 F14 | 175 | 4x18 | 140 | @45 | 65 | M12x20 | 175
600 | 600 | 555 | 415 | 154 | 580 | 223 | 820 26 F16 | 210 | 4x22 | 165 | @60 | 90 | M12x20 | 275
700 | 703 | 605 | 482 | 165 | 684 | 269 | 930 26 F16 | 210 | 4x22 | 165 | @72 | 80 | M20x40 | 367
750 | 750 | 629 | 489 | 190 | 726 | 280 | 970 26 F16 | 210 | 4x22 | 165 | @60 | 90 | M12x20 | 383
800 | 803 | 658 | 550 | 190 | 781 307 | 1060 | 29 F25 | 300 | 8x18 | 254 | @80 | 108 | M20x40 | 670
900 | 900 | 710 | 602 | 203 | 877 | 349 | 1160 | 36 F30 | 350 | 8x22 | 298 | @98 | 128 | M24x48 | 880

ISO 52110 I[IHE Top flange

Wafer, Lug and U-section

DN 450-900 DN E | @6 | d e F M
450 | 65 | 45 | 14 | 21 | 488 | M12x20
500 | 65 | 45 | 14 | 21 | 488 | M12x20
600 | 9 | 60 | 18 | 26 | 644 | M12x20
700 | 80 | 72 | 20 | 26 | 769 | M20x40
75 | 91 | 60 | 18 | 26 | 644 | M12x20
800 | 108 | 80 | 22 | 29 | 854 | M20x40
90 | 128 | 98 | 28 | 36 | 1044 | M24x48

Handlever

HLA : Aluminum Epoxy coated

DN Handlever type AV H L [ka]*
32/40 129 56 210 0.4
50 138 56 210 0.4
— 1 HLA.F0511.210-C1
65 149 56 210 0.4
80 164 56 210 0.4
100 179 66 340 0.7
— 1  HLA.F0714.340-C1
125 198 66 340 0.7
150 HLA.F0717.340-C1 214 66 340 0.7

* [kg] HE{SEI0] EE H2| 24|

www.interapp.net 718



BIANCA - DN 32- DN 900 HE{Zz2t0| =

Dimensions
Gearbox
GB 880-6800
L
:c: x
. O
\ J
. T
o
7]
DN AV H L o P R S T ik [kal*
32/40 | GB232-05.F05-F0711.100 125 53 126 425 48 100 14 80 10 0.8
50 GB232-05.F05-F0711.100 134 53 126 42.5 48 100 114 80 10 0.8
65 GB232-05.F05-F0711.100 145 53 126 425 48 100 114 80 10 0.8
80 GB232-05.F05-F0711.100 160 53 126 425 48 100 114 80 10 0.8
100 GB232-05.F05-F0714.100 175 53 126 42.5 48 100 114 80 10 0.8
125 GB232-05.F05-F0714.100 194 53 126 425 48 100 114 80 10 0.8
150 GB232-06.F05-F0717.160 210 59 189 425 48 160 114 80 10 0.9
200 GB232-06.F05-F0717.160 239 59 189 42.5 48 160 114 80 10 0.9
250 GB232-08.F07-F1022.250 275 67 219 50 56 250 131 100 9.25 1.55
300 GB232-08.F07-F1022.250 310 67 219 50 56 250 131 100 9.25 1.55
350 GB232-13.F10-F1227.300 349 85 371 80 83 300 209 175 10 5.4
400 GB232-13.F10-F1227.400 379 85 371 80 83 300 209 175 10 54
450 GB880N.F1445.500 426 92 305 86 101 500 227 200 9.5 14
500 GB880N.F1445.500 451 92 305 86 101 500 227 200 9.5 14
600 GB1250N.F1660.500 555 102 346 104.5 110 500 258 220 13.75 22
700 GB1950N.F1672.600 605 126 387 130 142.5 600 3225 285 13 32
750 GB1950N.F1660.700 629 126 387 130 142.5 700 322.5 285 13 32
800 GB2000NLB.F2580.500 658 120 348 53 142 500 300 285 27 27
900 GB6800N/PR4.F3098.400 710 159 470 182 170 400 407.5 370 81.5 63
A7 GB 232 Y& 0|&, E2|RE 2E * [kg] HE{Z2t0| YWE2t handwheel ®|2| 24|
GB1250-GB6800 GG 25 Z2|2|Et R E ** n=Handwheel2 ON/OFF

Further documentation

2¢ Hx0o|E], MS AH0f|0|E], HMIME|= Z HIO[E{A|ES & ESHM L.
Mx| 710|=, RX| B4 71| S, Z3MK|: InterApp2| HEIZ2}0| WE o] Mx| 4! QX| H:0] CHsi A= 0| JH0|EE AIESHIAIQ.

The technical data are noncommittal and do not assure you of any properties. Please refer to our general sales conditions. Modifications without notice.
© 2024 InterApp AG, all rights reserved

www.interapp.net 8/8 BIANCA_2418 kr



